Circuits II




1.  R1 = 4.0 (, R2 = 8.0 (, and R3 = 4.0 (.  Use the circuit at the right to answer the following:

a.  What is the equivalent resistance in the circuit?

b.  How much current will leave the battery?

c.  Indicate the direction of the current on the circuit.

d.  What is the potential drop across R3?

e.  What is the current through R3?

f.  What is the current through R1?

g.  What is the potential drop across R1?

h.  What is the current through R2?

i.  What is the potential drop across the R2?


2. R1 = 5.0 (, R2 = 8.0 (, R3 = 7.0 ( and R4 = 30.0 (.  Use the circuit at the right to answer the following:

a.  What is the equivalent resistance in the circuit?

b.  How much current will leave the battery?

c.  Describe quantitatively what happens to the current at point p.

d.  What is the potential drop across each of the resistors?


3. R1 = 6.0 (, R2 = 12.0 (, R3 = 10.0 (, R4 = 15.0 ( and R5 = 40 (. Use the circuit at the right to answer the following:

a.  What is the equivalent resistance in the circuit?

b.  What is the current through every resistor?

c.  What is the potential drop across every resistor?
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